[os]

— [ [ [
A) Ice thickness relative to present
800 L

700~ 4 H
00~

Thickness (m)
w B (0] (@)]
o
?
|

(w) ybiay sjdwes

-200-C) Bedrock height relative to present
9 £ f x x x x x x

4.5 4 3.5 3 2.5 2 1.5 1 0.5 0
Time (Myr B.P.)

T T rrrrre T T rrrrre T T rororrrrg T T rororrrrg T T rrrrre 1 T T T T
[ * * i 100 : .
900 D) Sample height above modern ice oz Measured E PAlI+Be two-nuclide diagran
—~ 800r © Simulated - 0.9 | 500 1
£ 00 1 <Sp N
E | f N \\\ 1000 h
= 600 = 0.8 o I~ \
*
Z 500 °oom g | % *
w o & wmo7 | ! My 2000 ]
S 400 e 1 = % 1| \
% 300 : o | *:0 o 1, \P //\\ \\30 ]
’ e T N
L u i —_ | \\\
200 .: o 7\\</ ~ )/ ) O//\ A
100+ =58 . FOSVEEEPAN o >0 >\
0 0 4J |~/ N s ~o 7 ]
Mg,
-100 - = . r \0\0/ A
R | Ll | | R 03 | L WA 7 P 1 1
10 10 1¢ 10 1¢ 10 0 0.5 1 1.5 2 2.5

18Be exposure age (yrs) ['Bel(x 16)



